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1. BBF 500m

B K % i it 8% B &
1 FE[ AR i B 0.44.43 6
3. —BBF25BLLT 500m
Bz K % i it 8% B/ &
1 B EKXER Hi1 0.39.42 6
2 kB =iE EtXR 0.40.62 5
3 EBE E AN 0.41.12 4
4 H1 K z B 0.41.74 3
5 A EE A 0.43.49 2
6 KH EA * % 0.45.10 1
4. — BB F26/%~ 29 500m
Bz K £ & i 8% =R i
1 =B BT IS 0.47.19 6
5. — i 5B F30&% ~39% 500m
Bz K £ & i 8% =Fa i
1 WK x— i 0.43.08 6
2 ® K- i 0.49.80 5
3 kR EHR TiRER 0.50.06 4
4 /A FMA AN 0.50.82 3
6. —fi% B F405% ~495% 500m
Bz K % B it 8% B &
1 =R MG T#ER 0.43.76 6
2 UAE FAL Hi 0.43.88 5
3 HK AE ¥ % 0.46.49 4
4 R i A 0.47.26 3
5 e BUE AN 0.49.89 2
6 &KHE fEER * % 0.56.54 1



7. — 2B F50i% ~59%% 500m

Bz K £ & i 8% Fa g &
1 MO0 "E ¥ % 0.51.73 6
2 {RE ER EtXR 0.51.79 5
3 BE X % % 0.52.10 4
4 Iy FRR TElEh 0.53.29 3
9. —fRBF70LLL 500m
B K % i a0 8% B g =
1 KAR RBEA ¥ % 1.02.29 6
2 Tl BX * % 1.05.64 5
3 /MR KRB i 1.10.06 4
4 WE BEX TR 1.12.87 3
5 Iy UERA ELTR 1.16.65 2
6 HIE K¥E EtXR 1.29.23 1
10. —f#i8%F 500m
Bz K £ T & i 8% Fa g &
1 IRA #HERE EtR 0.44.98 6
2 KM Ax ¥ % 1.01.63 5
11. FEEBEF 500m
Bz K £ i (84) it 8% B g =
1 Lt —EFK i (GlEATR) 0.40.99 6
2 XB RE ¥ H (R& 0.41.80 5
3 H1u #%E = 5% EFHEHD 0.42.77 4
4 kR = * B (FEFIID 0.42.85 3
5 XfE X i (GlEHRTR) 0.43.54 2
6 /I = i =5 0.43.66 1
7 FiFH AKER EXtR ELREE) 0.44.04
8 BE Eth A (E &AL ER) 0.44.19
9 hith BE&E R (]) 0.44.62
10 XRiR 3&FE EXtR (EXRSRF) 0.44.82
11 hth XK EXtR (EXREERE) 0.45.32
12 %% E# % (FHELH 0.45.47
13 KO R W OER (GREATR) 1.00.32
14 /h#k B TimEE  (FREA4D) 1.01.87



12. HFEZF 500m

Bz K £ i (1X4) i £% =Fa
1 BH% ZhH i (SREhTE) 0.44.96 6
2 It BE FH (R& 0.45.40 5
3 R R« i (GREHTR) 0.45.52 4
4 FEHZE EH Fi (GRERTE) 0.47.50 3
5 dtiE ¥ = % (R& 0.47.64 2
6 FE[ME BE = 5% FHEHD 0.47.82 1
7 HE #BF ¥ % (FHELIH 0.48.51
8 BEH EE BT (GRERTE) 0.49.01

13. IMNE6EBF 500m

Bz K £ i (84) o a0 8% B/
1 R @ i (k) 6 0.47.52 6
2 E#E BN EXR (R 6 0.47.56 5
3 HE BAf TiRE (FiREAm) 6 0.47.89 4
4 PR ERBK EXtR EXLR) 6 0.48.09 3
5 Nt KT FH (&R 6 0.48.54 2
6 FE HK i GHir) 6 0.50.54 1
7 FEBE EX i (& 8) 6 0.51.06
8 HEH EXER TiRE (FimEHAE) 6 0.51.92
9 IrH Eit EXR  (RE 6 0.53.47
10 #) & FH (&R 6 0.54.20
11 KE Jth T#E (FiREAm) 6 0.55.16
12 &% &FiFE = % (E)D 6 1.04.80

14. INEGELF 500m

Bz K £ i (#1X4) ok i 8% BFa
1 FIE RXFEX BT GEiE) 6 0.47.27 6
2 U\ g i (ZM/) 6 0.47.46 5
3 dE bz 2 % (FID 6 0.47.63 4
4 W IS =% (RE) 6 0.48.59 3
5 &k ¥EXE EXtR EXLR) 6 0.48.82 2
6 /R SERiKD EXR &) 6 0.49.21 1
7 KE ¥ oA GEmD 6 0.49.32
8 HE ¥E =% (R 6 0.49.80
9 /¥ BARF EXR &) 6 0.53.42
10 &R FEYD R (]) 6 1.03.32
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Bz K £ i (1K 4) A i 8% 5 g &
1 MK B TR (FiREARAL) 5 0.48.40 6
2 [RE £t FH (I 5 0.48.46 5
3 AHE EE EXR (KR 5 0.49.01 4
4  fRE JE i & =) 5 0.49.15 3
5 IR F[I} BT (2m) 5 0.49.51 2
6 THH RF* FH (ER 5 0.50.41 1
7 WH R i (2H) 5 0.51.16
8 /it EEE EXR (K 5 0.51.39
9 /W BEAN EXR &) 5 0.53.62
10 B BEEH TiEn  (THEHE) 5 0.54.68
1M £F K& i (M) 5 0.54.99
12 HK & ¥ % (GkEA) 5 1.04.30

16. INESELZF 500m

Bz K £ i (84) o it 8% B/ g =
1 % BRE ¥ %  (GKkEA) 5 0.49.12 6
2 It BE EXR ) 5 0.49.32 5
3 M 1Az i (Zm[) 5 0.50.21 4
4 Nt {BEE FH (&R 5 0.51.98 3
5 R&RE ;= Ml &  (#8A) 5 0.52.23 2
6 /INE EFIF i A (#4ER) 5 0.52.39 1
7 BR V&Y T#EF  (TH#EAAD) 5 0.53.09
8 H4% F=E FH (&R 5 0.53.80
9 AR Bi g (k) 5 0.54.67
10 E5 GEF TiREh  (TElERAL) 5 1.01.39
11 IMNR 8BE i (Zm/) 5 1.01.60
12 45# 8 i A GUINFEND) 5 1.10.15

17. INEASEBF 500m

Bz K £ i (1X4) ok i 8% 7 g =
1 HH =t i (e M) 4 0.54.53 6
2 R/ B¥E FH (B 4 0.55.67 5
3 ZHAKR & * % (2F) 4 0.56.05 4
4 O EX£ B (Z2m) 4 0.57.44 3
5 SHR & FH EP 4 0.57.78 2
6 & LR Hi (ch M) 4 0.59.65 1
7 =H BT EXtR EILR) 4 0.59.79
8 fElR B R (]) 4 1.01.11
9 hith BRA ELXR (R 4 1.01.32
10 Xl BRA W & (ki) 4 1.22.06



18. INFAFELZF 500m

B K £ T & (R 4) A i 8% 5 g &
1 BEHF EK oA GHmD 4 0.52.64 6
2 A EBE EXR (R 4 0.53.29 5
3 EX EiE ¥ H (2R 4 0.54.21 4
4 Ik HER FH (&R 4 0.54.25 3
5 =#H KR oA b 4 0.55.79 2
6 /Il XF | b 4 0.55.96 1
7 HB #F ¥ H (B¥F 4 0.56.37
8 Ik RAFE EXR &) 4 1.01.43
9 IH BE EXR (R 4 1.01.53
10 %O EFH TiREn  (THREAAL) 4 1.12.77
11 *H Ef TiEh  (TiREHE) 4 1.21.70

19. IMNEIEBF 500m

B K £ i (8 4) ok 0 8% Fa g &
1 Nt FH (&R 3 0.55.81 6
2 Il EXK B (L) 3 0.57.40 5
3 ME EE * % (EF) 3 1.00.62 4
4 FE EXE ¥ % GkEA) 3 1.01.26 3
5 WA BEELR i A (Rih) 3 1.01.58 2
6 M B EXR (K 3 1.02.18 1
17 Hh EC IR (&) 3 1.02.32
8 Ik MFE i/ (M) 3 1.02.53
9 BT [EF i A (#48R) 3 1.02.63
10 #&#F 955 i Giim) 3 1.02.83
11 FHJE KA IR (&) 3 1.04.25
12 H BN EXR (K 3 1.04.33
13 RiR # EXR (R 3 1.13.15
14 e FEH R (/) 3 1.15.58
15 S§H# = M & GINFEND 3 1.17.70



20. INEIFEXF 500m

B K £ i (R 4) A i 8% /R
1 AR SEE EXtR EILR) 3 0.58.53 6
2 KE BF Ei GHmE) 3 1.00.73 5
3 M Rig i (2H) 3 1.01.06 4
4 hFt 2R = % (F)D 3 1.01.14 3
5 #/K EATE * % (kB 3 1.01.39 2
6 B HhEE FH (EID 3 1.04.90 1
7 HE K EXtR EXLR) 3 1.05.73
8 HE =Xk R (/) 3 1.06.48
9 H EXR (KD 3 1.07.80
10 HIE =&F i/ (M) 3 1.08.21
11 RE BE M &  (#BA) 3 1.09.98
12 AR FE A (Eh) 3 1.10.55
13 #%H% THEF [R (&) 3 1.12.01
14 TEM B i & (%) 3 1.25.15

21. INFE2FEHF 500m

Bz K £ i (84) ol a0 8% 7R
1 IR EBE EXR () 2 1.02.72 6
2 WA xTK ¥ ¥t 2 1.04.19 5
3 FH # FH (B 2 1.06.65 4
4 fiE HIK i (ZMH) 2 1.07.23 3
5 HiE E i (EH) 2 1.07.77 2
6 FHLK HEEE * % (kB 2 1.07.84 1
7 E K& EXR (%8 2 1.10.96
8 A¥ —# EXR &) 2 1.13.70
9 %R WX Hi (ZM/) 2 1.18.13
10 d2F K& i A (Rih) 2 1.36.29

22, INFE2FELZF 500m

B K £ i (R 4) A i 8% /R
1 WA &h ¥ ¥t 2 0.58.64 6
2 IhNE ER i (k) 2 1.05.83 5
3 R E=E ¥ % (GKkEA) 2 1.05.93 4
4 HFH S * % (GkEA) 2 1.06.49 3
5 £F kK& Hi (M) 2 1.07.09 2
6 B ER Hi (M) 2 1.11.27 1
7 OWE EE TiE (FEmEHE) 2 1.11.99
8 HO B = (%) 2 1.14.57
9 /hith ZE ELXR (KR 2 1.14.69
10 RiIF =& TiEn  (THEHE) 2 1.16.70
11 KH EA i B GUINFEND 2 1.20.71
12 JdtEH B F (NN 2 1.23.84
13 TEM HifE i A (FE&) 2 1.28.16
14 HO HIs TiEn  (THEHE) 2 1.28.73
15 £F MBAZE = (&) 2 1.49.64



23. INR1EBF 300m

B K £ i (R 4) A i 8% 5 g &
1 FE BA IR (&) 1 0.42.23 6
2 RE fmE M & (#E) 1 0.43.44 5
3 WK —p FH (&R 1 0.43.47 4
4 F K- R (&) 1 0.45.15 3
5 =ZH EKX Hi (k) 1 0.45.20 2
6 HE BEA Hi (ZM/) 1 0.45.96 1
7 AR HE = % (EID 1 0.47.32
8 WX BEX EA NG 1 0.47.50
9 # X i A JIE) 1 0.47.64
10 WA &KX R (]) 1 0.48.63
11 #EHN FX ELXR (KD 1 0.49.18
12 W frg i & =) 1 0.52.62
13 FH X EXR ) 1 1.07.41
14 5 &HiF EXR (R 1 1.25.01

24. INE1ELF 300m

Bz K £ i (84) ol a0 8% B/ g =
1 % EBF i/ (EH) 1 0.42.16 6
2 {FE AE * % (kB 1 0.42.75 5
3 IR BE W E (ZM/) 1 0.43.28 4
4 FB K * % (k) 1 0.45.34 3
5 HE ¥& = % (F)D 1 0.46.27 2
6 S BFE i (2MH) 1 0.50.26 1
7 BEFx & R (]) 1 0.50.64
8 fER A I ([]) 1 0.53.58
9 X BE 7S (Fih) 1 0.54.29
10 FE#H =2 TiEH  (TiEHE) 1 1.03.85
11 W KB 2R (ELR) 1 1.08.61

26. FEFEF 3000m

B K £ i (84) a0 8% B/ g =
1 XB KE FH (R& 4.27.43 6
2 H1U #%E B (FHEI 4.29.58 5
3 /W EM T#EE  (THEH#D) 437.79 4
4 fEO FEE ¥ H (R& 4.38.15 3
5 Lt —5F i (GlEATR) 4.38.28 2
6 XR EF EXtR (EXRSRF) 4.42.26 1
7 R K# | oA (EEEN 4.42.57
8 Ml =K * % (kB 44266
9 /it X EXR EIXRIR) 44303
10 #HH HHKER EtXtR (EXRSR) 4.45.79
11 #F B 7 N PN 1) 4.47.91
12 KO #E Hi (GREHTR) 4.48.79
13 X[ X1 Hi (GlEHRTR) 44910
14 Nt BEHE R (]) 5.06.94



27. INFELZF 1000m

B K £ i (R 4) A i 8% 5 g &
1 FIE RXFEX i GHiE) 6 1.37.02 6
2 dE 3z FH (FEID 6 1.40.13 5
3 U@ R BT (2H) 6 1.40.39 4
4 It BE EXR &) 5 1.40.67 3
5 {FE K 5% (R 6 1.40.74 2
6 /R SEREKD EXR &) 6 1.41.47 1
7 MR fEER * 5% (R 6 1.41.73
8 M 1Az g (Zm[) 5 1.43.33
9 &k ¥EE EXtR EXLR) 6 1.44.23
10 /NE EFRIF i & (#48R) 5 1.46.55
11 ®RE m=x M A (#E) 5 1.51.23
12 iR O&KY T#EE  (TE#EAAD) 5 2.03.11
13 Et5 BF TEE  (THEARAR) 5 2.09.45
14 5H # A GUINFEEDND) 5 2.15.75
15 &R FHEYD IR (&) 6 2.20.20
16 #HE =k R (/) 3 2.37.07

28. — i BF 308 LLE 1000m

Bz K £ i it 8% B/ g =
1 WA FRk i 1.35.36 6
2 MR ¥ i A 1.41.50 5
3 kR ER T#ER 1.53.10 4
4 Ipy FR TiE 2.02.70 3
5 RKHE &R ¥ % 2.08.52 2

29. INEEF 1500m

B K £ i (84) o a0 8% B/ g =
1 ZEfE BN EXR (R 6 2.33.79 6
2 it K FH (&R 6 2.34.24 5
3 R R i (k) 6 2.3452 4
4 RE FE EXR (KR 5 2.34.86 3
5 MK ERBK 2R (ELR) 6 2.34.90 2
6 /M HBE TiE (FEREARAL) 5 2.35.57 1
7 MR ZHE Hi (ZM/) 5 2.36.17
8 HE BAfH TiRE (FiRERm) 6 2.36.25
9 fEE JM M & =) 5 2.37.09
10 &k EB& ¥ % (k) 5 2.39.74
11 FBE #hK ¥ % (GkEA) 5 2.40.08
12 #FJE &K Hi Gt 6 2.40.94
13 #ith &= & (%) 3 3.01.24
14 KiE Hth TiE (FimEAE) 6 3.09.32
15 FE KA & (%) 3 3.28.15
16 &R B R (]) 4 3.30.63
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B K £ i (R 4) i 8% Fa g %
1IN EE * H (E& 2.25.63 6
2 dtE ¥ FH (R& 2.25.75 5
3 M BEX ¥ % (FHELH 2.25.88 4
4 FEH HBH i (GlEATR) 2.26.00 3
5 & =R/ i (GRERTE) 2.26.36 2
6 FJE ELK i (GlEHTR) 2.28.00 1
1T BH EF i (GRERTE) 2.28.42
8 Hd ERMf FH (R& 2.28.84
31. — 8B F298kLLT 1500m
Bz K % i a0 8% B g &
1 {58 =8 EtTR 2.20.19 6
2 ¥R =R Hi 2.30.36 5
3 Hf K ¥ % 2.34.80 4
4 FH BEA * % 24174 3
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FHH g ié giﬂe % i; f_jmﬂ 2 [307.71| 5
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No. FIENREEREEEERIEER [ =t8
1 |[E&%SBF 500m 6
2 |E#%&F 500m
3 |—EF5ELT 500m 6 6 4 5
4 |~ BEF268~298 500m 6
5 |—#2EF308~398 500m 3 11
6 |—#EF408~498 500m 5 5 5
7 |—#EEF508~598 500m 10 5
8 |—#2EF608~698 500m
9 |[—REFI0®LIE 500m 3 4 11
10 [—#E%F 500m 5
11 [th2EF 500m 9 12
12 |2 & F 500m 13 8
13 |26 EEF 500m 4 7 2 8
14 |12 6&%F 500m 11 7 3
15 [h25E£EF 500m 6 2 6 4
16 [/N¥5&%ZF 500m 4 9 5
17 [h2a&EEF 500m 10 11
18 [IN% 4 &% F 500m 9 7 5
19 [n23EEF 500m 2 5 13 1
20 [In23E%F 500m 9 6 6
21 [Ihg2&8F 500m 5 10 6
22 [N 2E%F 500m 8 13
23 [/hg1EBF 300m 5 3 4 9
24 [In21E%F 300m 11 10
25 |BEHEF 3000m
26 [th=2EF 3000m 4 2 14 1
27 [Ihng&F 1000m 10 7 4
28 |—#EBF 3 0mLLE 1000m| 5 7 6 2
29 [/NEBF 1500m 1 4 5 11
30 |[FE%F 1500m 6 15
31 [—MEF29LT 1500m 5 7 6
32 |EH&F 1500m
33 [k E 2000mYy L— 3 6 5 2 4
34 [IvEBEF 2000m1 L— 3 4 5 2 6
35 |k F 2000m Y L— 6 5
36 |FFEF 2000m!) L— 5 6
37 [EREF 2000m1 L—
38 [—fREF 2000m1 L— 6 5

& B 53 46 186 224 13 89

IE i 4 5 2 1 6 3




